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RELAÇÃO DO AÇO

V1 V2 V3

V4 V5 V6

V7 V8 V9

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 23 77 1771

2 5.0 80 107 8560

3 5.0 84 87 7308

CA50 4 10.0 2 404 808

5 10.0 2 427 854

6 10.0 8 346 2768

7 10.0 8 389 3112

8 10.0 8 346 2768

9 10.0 4 377 1508

10 10.0 4 379 1516

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 10.0 133.3 90.4

CA60 5.0 176.4 29.9

PESO TOTAL

(kg)

CA50 90.4

CA60 29.9

Volume de concreto (C-30) = 1.86 m³

Área de forma = 24.66 m²

ESC 1:30

DETALHAMENTO PADRÃO - VIGAS INCLINADAS


